- R ETH )

(HRERFR

N

n

o
4

-
n

n

%I

92 3EI
24
o
n

%

%

%I

n

n

%I

0. O%I
100 OEI
%I

n
o
%I

100. 0%
0 oEI

S|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|D|o|D || || |S|S
olo|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|a|o|o|o|o|o| ool o|o|o|o|o|S|lo|o| oo | oo
=[=[=[= == = e = e e e = = = = = == == = ===
S| o|o|o|o|o|o|o|o|o|o|o| ol ol ol | ol ol ol ol ol ol ol ol ol ol ol S| ol S| ol | ol | S| | ol | S|
O.W.O.OO0.0.0.0000000.0.00%00.00000.0.000.0.%.0.0.0.00.0.0.0.%.0.
BEEEEEEEEEEEEEEEREEEEEEEEEEEEEEEEEEEEER
olo|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|s|o|o|o|o|o|o|o|o|s
S =] ~ S =]

14
12
4
1
0
4
8
9
0
0
3
0
4
4
2
5
6
1
3
1
0
5
2
5

C
=
HE
e
Y 2]
® 40
* &
A =
=
B S
p kS 3 3 =|=|
u‘—% NS EEEEEEEEEEEEEE RS EEEEEEEEEEEEEEEEEEEEEEEEEEEE
ﬁ & = 100000000000%000Q2u.000000.40000000002000.200000000.
& OO HESH< <
B & =
B 5 .
=}
e
> o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|a|o|o|o|o|o|o|o|o|o|o|o|o|o|s|as
[ o | cvm<E (RERENRD <
P
m No e
”_.m 6 N R EEEEEEEEE R R EEE R R R R E R EEE R R R EEER
1) W |[T|o|o|oo|o|o|o|o|o|o|om|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o| o |o|o|o|o|o|o|o| o o oo o oo
g o 8
= = N EEEEEEEEEEEEEEEEEEECEEEEEEEEEEEEEEEEEEECEEEEEE
hwf L | -clc|o|c|c|o|o|c|o|o|o|s|o|o|c|wo|s|s|o|a|s| = ool s|o|o|o|o|o|s|s|o| ol s|s|o| ol s|o|o|s|s|s
N pil C o< (i) = B = = =
3]
= ) &
%@ BF B EEEEEEEEEEEE EEEE EEE EEE E EE EE EEEEE EEEE EE EEEER
N
2] HAHE T B 5 g
] f
iy
Mv_.- | Hm EREEREG B~ DEER < |< oo~ [>< <<= ~
B ~ S
i o #8a FH 8
® [ ~
M| &
<
i = <t 8
- ol
ml Mﬁ o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o(o|o|o|o|o|o|o|o|o|o|o
- % LLS e g
=, 4H
~ +H &
T &E HEEEEEEEEEEEEEEE R E EEE EEE EEEEEE E EE E EEEEEEEEEER
.
g | REo a
% ) &1 8
= ®n O
[ o~
Iy WO|O|O(O|O|0O|O|O|0|O|O|O|—|O|O|O|—|O|O|O|O|O|O|—|O|O|0|O|O|Oo|O|O|Oo| —|O|O|O| —|O|o|o|O|o|o|O
+0
X S =
X ETH
1] |
e iy 5)
1| Al I i )
] i | (= | el I= % <lie g
Em_ﬁ_n“n“n“n“n“n“n»mu“nmn“ 1E| | {E{ fE{E{ B[ +Q{E BB K HE| 1E| | fE| S{E(E[EE| 2| M| | | & | 12| | fe| & | & | | | | &
MWﬁﬁﬁﬂﬁﬁ.ﬂiﬁ@ﬂﬁ@?ﬂ(t%mﬁ ﬁ;ﬁ.ﬁﬁ@?“ﬁﬁE(éﬁ%iﬁ?ﬁsmm?ﬁﬁw_m
R e o L L L e e o e A e B b B e s e o e o e O S B i b = L B
KR
b=
4|k




